- B ME =
K ol X B~ - - 3
L =7 T Rl H ol fo TR ~
U2 =2 @ o & A ol R
Eﬁ o S~ o KO &l Ok oy fo &
) ° ™ Kol x w W _ Pz
=0 = N W I S A w o o
—-— ﬂ_ T K Jo! ..AA_I an H ._Iml o| 70 N >3 H
4 5 = oo R 0 M g ®O - o
B zr . K or Jo 7| B
I o g 2 WS T oop 5 ~F
RKooo s M ol il i = o —
L ] ol . © T _._ﬂ ______“ |_./I 0% i i 70
K T w 0 —_— O~ B F
w W o 1 Byt Ho
o | <! K nr
S H < ] M H ofu Ki
=l T = L T 3
K4 T0 N K = - F o -
mr <k Er__: L W =5 3 H oju ar
M ® M RO 1 = ¥ ar i
3 1o o 3 Ll T 10 = H _u_ il |
S N F < =7 Ml =
o g M4 0y ol & 5 & 3 o )
ik : Rl = R T oF E]
o AR X il o N oz =
S - K N TR OR Yo o
o — = b — =2 o o
X ol U o 0
sl D S o IF| e o oT TR i
H T oy w0 1 A A
— @ = i
o = gu X nd
—.—__O 3] L] —
1 o
= ou nd 0
S o wr I e
o i T Bl =
) n - — =
s u ¥ = Dar  woF Oy m B
{ju — 10 K _ 00 b E] =1
- X _ 0o F Jlo = <k &1 =3 3
5 N O hl) ofu D K1 i =
Bl % OF &l G E o @ @Al ll El 5 8 Ej
o i T I__= < 3 v H__l =r
B ol OF X K o = _ = < K =3
3 _|-n_u {0 |_|_ AO —_ E T = ol |q %0 =T —_—
3 o A - 7 K go = . KI 20 m %
2oor ¢ @ E N 4 % WL m 3
3 - YR FRT 51 B oS °
= 30 WH 1 = o ol X0 m ol
> RO X ioll T £ K Ir RI 31 & =
0 K Mo o _ S K " i R T
38l ® g0 X ar ol i o oo g — wy BT g
Rl = o & _. 7 KU © 4k & ot m — o — =
o or & o 5 — 7 — = _ iy S 2 =8 0 F
i o o = [\Y Ll = m .. Ol < I @ 3 wn = £
LI — = B o > o O oI RI Ho & joI
N T O el < ._.ﬂ._u..n.ron__.h M ENF < T g o FF
ol ® omu m U IS N BELUEEI ! Wl s s R me % g ol
= = < =T L3 T el S Of B mww R v wl
dom OoF wmoon N M1 A M i F R <FmET T A
m_ﬁu_ﬂ%nﬂﬁ ) ° ohe R w N S Kol ol R OH Bl
5 T A o HI ol A A A A




KITECH

as94a97 8

(a) 9.08ug/cn?, (b)2.0ug/cn’, (c)1.0ug/cn?, (d)0.67/cm®

(=30 M2 Lt {E S BHA]

—_

/1&2EE  J TR OTRLZ DTRLI DTRL4 DTRLS DTRLE DTRLT TR DTRLS 4

1
SE/NAY N

x-" PN

=

i

Jleg8E0} Hx1g 2219

= X2 5EZF AEA F 36%2| tE HEHME HO|O, OfA|O} X|0] HEHT 40% +F=2| A& &HE T
» 20123 HAFFX| A|AHIO| =522 X|SHHoZ HES| = 45,700CH0f| Eelf 2011L30] H|sH 72| FHH0| o|2=
A = Mg E2 2 uj 20121 OfA|O} X|HO| E8}= 52%, 2013 =8l= 57%

ol

[e] 4= >4 ] ol
=

A
ITOE2 T A

N

o

=

o
(im
Jr
1=
0x
0
do
o
ot
1o
=
o
=
12
12l
dr
1=
N
>
=2
rx
oA
ogl
{ot
>
02
A
mjo
1jo

Ho= ol ¢

Jdm

5

U4 S2SEA Z2(9, ol2] H=EY X o] o]
3

o2
M

oG]
=

OfA| & 4! (041-589-8077 / tlo@kitech.re.kr)




